/DIIRB

3UDFRZQLN 5RINdDG GU " XGNLHZLF] $JQLHVIND 7\J

zZ 7\ 7\ 7\
% =DU]3G]DQIH IDNRGFLla L =DU]3G]DQIH IDNRGFLla L
= EHISIHFTHEVIZHP T\ZQRGFL GU = \EUDQH DVSHNIN EHISIHFTHEVIZHP T\ZQRGFL GU
o " XGNIHZIF] $JQHVIND =DICFLD RQ SURGXNFIL T\ZQRGFIRZ\FK " XGNIHZIF] $JQHVIND =DICFLD RQ
T IQH =&" 0 :zDU VXURZFyZ URGLQQ\FK GU IQH =&" 0 :zDU
o " XGNIHZIF] $JQHVIND =
% DICFIDRQUQH  =&" O
n
oD
fe)l
™~
)
% 7\
= 3UDFRZQLD PDJVIHWND GU  XGNIHZIF] $JQIHVIND
Q N GU -DSXGQON .DPUD 7\J =DICFLD
2 RQUQH =& O =DU
7\G] 7\G] 7\G]
= \EUDQH DVSHNIN SURGXNFIL = \EUDQH DVSHNIN SURGXNFIL T\ZQRGFIRZ\FK ) = \EUDQH DVSHNIN SURGXNFIL
T\ZQRGFIRZ\FK VXURZFyZ UIRGLQQ\FK VXURZFyZ URGLQQ\FK GU " XGNIHZLF] $JQIHVIND =DIC T\ZQRGFIRZ\FK VXURZFyZ UIRGLQQ\FK
GU " XGNLHZLF] $JIQHVIND =DICFID RQ FDRQUQH =&"6 =D GU " XGNLHZLF] $IQHVIND =DICFID RQ
IQH =& 6 =DU IQH =& 6 =DU
7\G]
7] =DUJaGIDQH IDNRGFlg L 7]
= \EUDQH DVSHNIN SURGXNFL EHISIHFTHEVIZHP T\ZQRGFL GU =DU]3G]DQIH IDNRGFlaL
T\ZQRGFIRZ\FK VXURZFyZ UIRGLQQ\FK " XGNIHZIF] $JQHVIND =DICFLD RQ EHISIHFTHEVIZHP T\ZQRGFL GU
GU " XGNLHZIF] $JQHVIND =DICFID RQ QH =&"6 = " XGNIHZLF] $JQHVIND =DICFLD RQ
QH =&"6 = QH =&"6 =D
7\G]
[a)
= = \EUDQH DVSHNIN
5 SURGXNFIL T\ZQRGFIRZ\FK
o VXURZFyZ URGLQQ\FK GU
> " XGNIHZLF] $JIQHVIND =
DICFDRQUQH =& 6
7\G]
=DU]aG]DQH IDNRGFlg L EHJSIHFJHEVIZHP T\ZQRGFL
GU “XGNIHZIF] $JQHVIND =DICFIDRQ IQH  =&" 6
zDU
7\G]
=DU]8G]DQIH IDNRGFlg | EHJSIHFTHEVIZHP T\ZQRGFL
GU *XGNIHZIF] $JQHVIND =DICFIDRQ UIQH =&~ 6
DU
7\G] 7\G] 7\G]
a = \EUDQH DVSHNIN SURGXNFIL = \EUDQH DVSHNIN SURGXNFIL T\ZQRGFIRZ\FK ) =DU]aG]DQH IDNRGFlg L EHJSIHFJHEVIZHP T\ZQRGFL
S T\ZQRGFIRZ\FK VXURZFyZ URGLQQ\FK VXURZFyZ URGIQQ\FK GU " XGNIHZLF] $JQIHVIND =DIC GU “XGNIHZIF] $JQHVIND =DICFIDRQ IQH  =&" 6
= GU " XGNHZLF] $JQIHVIND =DICFID RQ FDRQUQH =&"6  zDU -DU
o lQH =&"6 =
T 7\G]
(O = \EUDQH DVSHNIN SURGXNFIL T\ZQRGFIRZ\FK

VXURZFyZ IRGIQQ\FK GU = XGNHZLF] $JQIHVIND =DIC

FLD RQ (lQH

=&" 6 =l




/DIRB

3UDFRZQLN 5RINdDG GU " XGNLHZLF] $JQLHVIND 7\J

QLHG]LHOD

7\6]

= \EUDQH
DVSHNIN
SURGXNFIL
T\ZQRGFIR
Z\FK
VXURZFyZ
URGIQQ\FK
el

" XGNIHZLF

1
$IQHVIND
=DICFLD RQ
1QH

=&" 6

7\G]
=DU]aG]DQL
H IDNRGFLag L
EH]SIHFIH
EVIZHP
T\ZQRGFL
el]

“ XGNHZLF

1
$IQHVIND
=DICFID RQ
1QH

=&" 6

7\G]
=DU]aG]DQIH IDNRGFLg L
EH]SIHFTHEVIZHP
T\ZQRGFL GU "XGNIHZIF]
$JIQHVIND =DICFLD RQ
IQH =& 6 =

7\G]
=DU]aGIDQH IDNRGFLg L
EHJSHFTHEVIZHP T\ZQRGFL G

* XGNIHZLF] $JQHVIND =DICFID RQ
0IQH =&"6 =Dl

=DU]aG]DQIH IDNRGFLg L
EH]SIHFTHEVIZHP T\ZQRGFL GU

" XGNIHZLF] $JQHVIND =DICFLD RQ
IQH =& 6 =

7\6]




